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1. Bina Ltd. has production capacity of 15000 units per year. Normal production capacity
utilization is estimated 80% for the year 2023-24. Information related to cost is as

below : 14

Particulars : L4

Selling price per unit 200

Variable Expenses per unit :

Direct material 60

Direct labour 30

Factory Overheads 10

Yearly Fixed Costs :

Factory Expenses 2,40,000

Administrative expenses . 1,00,000

Selling and Distribution expenses 1,20,000

Other details of the company for the year 2023-24 are as below :
Opening stock : 3000 Units .
Sales : 12000 Units'
Closing stock : 6000 Units

Prepare statement under Absorption cost method and Marginal cost method for the year
2023-24 and find the profit. Also prepare reconciliation statement of both the profit.

OR
1. AryaLtd. Co. provides you the following informiation for the year 2022-23 and 2023-24: 14
Year Sales () Profit ) o o*
2022-23 12,00,000 15,000
2023-24 15,00,000 75,000

Calculate :

(1) Profit-Volume ratio

(2) Fixed cost

(3) Break-even-point (3)

(4) - Margin of safety for the year 2023-24 in (%) and (%)

(5) Sales required to earn expected profit of ¥ 1,00,000 in the next year.
(6) Sales required to earn 10% profit on sales in the next year

(7) Sales required, if fixed cost 1s increased by 20% and margin of safety is to be
maintained at 25%.
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Yug Ltd. produces and sclls three products A, B and C. It provides the following

information 14
Particulars A B =

") Maximum market demand of the product (Units) | 12000 | 15000 | 16000

(2) Selling price per unit (J) 105 200 256
| (3) Raw materials per unit (%) 25 30 x

(4) Labour per unit (%) 20 60 80

(5) Variable overheads per unit () 30 50 85

. = e N B N

Price of raw material per kg. is ¥ 5 and Rate of labour per hour is X 10. The company
uses same materials and workers for all the three products. Total fixed expenses are

estimated T 14,00,000.
Calculate the best production mix in each of the following two independent cases and
find out profit :

(1) When maximum available Materials is 220000 kilograms.
(2) When maximum available Labour time is 226000 hours.
OR

Answer the following questions :

(1) Ayushi Ltd. produces two products“A” and “B”. The selling price of A is X 300
per unit and variable cost is ¥ 240 perunit. The selling price of B is ¥ 200 per unit
and variable cost is T 160 per unit. 10 machine hours are utilized for producing
one unit of A, while 15 machine hours are utilized for producing one unit of B.
Only 6000 machiné hours are available in the factory. The company can sell
maximum 300 units of A.and B each in the market. 7

Determine the optimum production mix of “A” and “B” to maximize the
contribution using graphical method of linear programming.

(2) What is linear programming ? Explain limitations of linear programming. 7

Ranbir Ltd., works at 70% production capacity at present. The information of its

profitability are as follows : _ L 14

Particulars . )

| Sales ~ 8,40,000
Costs : — —
Direct material 2,45,000 -
Direct labour 1,68,000 —
Variable overheads 42,000 -

Fixed overheads | 2,35,000 | 6,90,000

Pl;c_iﬁt_ —> 1,50,0(& _
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The company has received an export order that would utilize 40% production capacity
of the total capacity of the factory. The order cannot be divided. So that the order has
either to be taken in full and executed at 10% below the normal domestic price or
rejected totally.

The alternatives available to management are given below :
(1) Reject the export order and continue with the domestic sales only, as at present.

(2) Accept the export order and split the full production capacity between 40% for
export order and 60% for domestic sales by rejecting excess domestic demand.

(3) Increase the production capacity so as to accept the export order and also to
maintain the present domestic sales by purchasing an equipment that will inerease
production capacity by 10% and increase fixed cost by ¥ 45,000.

(4) Reject the export order and achieve the sales upto 100% production capacity in
domestic market by reducing 5% in present domestic price.

Prepare comparative statements of profitability and suggest the best alternative.

OR
3.  Answer the following questions :
(a) Explain in detail “Make or Buy” Decision. 7
(b) Explain with illustration “Shut-down Decision”. 7

4. What is “Just In Time” (JIT) approach ?. Discuss its benefits and obstacles to

implementation of ‘JIT’ in detaill. 14
OR
4.  Answer the following questions :
(a) Explain in detail “Stages of Product Life Cycle” with diagram. 7
(b) Explain concept of “Manufacturing Resource Planning (MRP)-11". i
5.  Select the correct answer from given alternatives of each question : (Any Seven) 14

(1) What is derived.by using the following formula ?
= Actual Sales — Margin of safety

(a) Break-even-point (b) Contribution
(c) .« Fixed cost (d) None of these
(2) Production cost under absorption costing is
-(a) higher than marginal costing (b) lower than marginal costing
(c) equal to marginal costing (d) None of these
3) is the important factor in linear programming.
-(a) Constraints (b) Cost
(¢) Contribution (d) None of these

(4) Linear programming was first used in U
(a) American Air Force in 1947 (b) Indian Air Force in 1962

(¢) Ford company of Americain 1903 (d) Toyota Company of Japan in 1950
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(5) When material is a limiting'factor, profitability of a product is decided on which

of the following basis ?
(a) P.V.Ratio (b) Contribution per kilogram
(c) Contribution per unit (d) Contribution per hour

(6) For producing two products X and Y by a machine, requires 8 hours and 4 hours
per unit respectively. If, there are maximum only 3600 hours available, which of
the following is correct ?

(a) 8X+4Y=23600 (b) 8X+4Y <3600
(c) 8X+4Y 23600 (d) None of these

(7) At which stage of product life cycles, to capture the market does the firm keeps
the price low and adopts more stimulus spending strategy ?

(@) In Growth stage .(b) InIntroduction stage
(c) In Maturity stage (d) All of these
(8) Differential cost deals with —
(@) Sunk cost (b) « Relevant cost
(¢) Historical cost (d) None of these
(9) Which of the following is a characteristic of relevant cost ?
(@) It is historical cost. (b) Itis sunk cost.
(c¢) Itis future cost. (d) None of these

(10) In which of the following methods, first of all such selling price is determined,
which customers are‘willing to pay ?

(a) Marginal costing (b) Absorption costing
{c) Targetcosting (d) Relevant costing

(11) Which one of the following is main obstacle of “JIT” approach ?
(a) | Problems of warehouse (b) Problems of Market
(¢). Problems of suppliers (d) None of these

(12) Material Requirement Planning-I (MRP-I) is :
(a) A traditional Approach

(b)" An Inter departmental approach relating to production, marketing, Finance
etc.

(c) A computer based approach relating to planning only in respect of
production

(d) None of these
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